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4. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet
for the same.

5. After the last Bell is rung at 12.30 pm, stop marking on the OMR answer sheet and affix your left hand thumb
impression on the OMR answer sheet as per the instructions.

6. Handover the OMRANSWER SHEET to the room invigilator as itis.
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PART -1
Each question carry one mark. (60 x 1 =60)
The Rank of a Unit matrix of order 3 is : Mg nr
5.  Evaluate the integral I sin’ xdx is
()i ) 0
(B) 0
53 (A) 0
(D) -3 (B) 3
; (C) 5m/32
The equationsx+y+z=2 x+y-z=4
and x + y =3, have (D)..28
(A) No Solution
B i i ;
:C: :Jl;'lq't:e‘S()lutlon i 6. Ify=eisasolution of
nfinitely many solutions
ot G i : y" =5y +ky =0, then the value ofk is
(D) Finitely many solutions
(A) 6
The value of sin™' (x)+cos™' (x)is (B) 0
(A) 0 (C) 18
(B) 1
©€) w2 (il
(D) =
Thvaliia ot serios T he solutlion of the Differential equations
i l »
l + # + 3 P is _2-"2—." =3 represents
123 234 345 dx
(A) 0 (A) Straight lines
(B) 2
I (B) Circles
() =
* (C) Parabolas
- (D) Ellipses
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8.  Evaluate the integral L

.
(A) I_I

(B) =
(C) n/4

(D)

9 f(x)=log(x+V1+x7) is

.(A) Even function

5
2

1+ x

dx 1.

(A)
(B)
(©)
(D)

(A)
(B)
(©
(D)

a P

The general selution of — = is

a% - X

y =ax

y = log(x)

1/x

0

12. If [ —c)dv =5, then [ “f(x—c)dvis

10
5
c

1

(B) Odd function

: e 13. J":' Jlnh I" dxdydz is
(C) Singular function sy it
(D) Neither even nor odd (B) a+tb+c
(C) 0
10. The product of Eigen values of a Matrix (D) (a+b+c)3
 n e
A=l2 5 1}is 14. A wife and husband attend an interview.
1 =1 2 The probability of the wife getting
A 10' selected is 1/3 and that of the husband is
(A) 1/4, then the probability of atleast one of
(B) 8 them getting selected is
(A) 1/2
(€) 9 (B) 7/12
) 243
0y s (D) 3/4
Space For Rough Work
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16.

17.

An integer is chosen from the numbers
I to 1000. The probability that it is not
divisible by 5 or 7 is

(A) 0314

(B) 0.686

(C) 0.142

(D) 0.8

The perpendicular distance from the

point (1.1,1) to the line ¥=2_¥+3_ = jg
2 2 -1

(A) 4.1

~ (B) 4.0

(C) 42

(D) 4.4

If u=log tan[f.kg}. then the value of

4 2
tanh 2 is
2
(A) tan 2
2
(B) cotg
2
(C) sing
2
(D) sinhg
2

18.

19.

20.

If x + y + z =1, then the value of the

determinant |x v = is
k] 3 3
g oabT
(A) 2
(B) 3
()1
(D) O

A® —9A +14I,

B3
If A=[ ] then
Vol

where I is a unit matrix of second order,
is

(A) 1

(B) 2I

(C) A

(D) 0

3 3 RS
Let w=x"+y —3axy, where a is any

constant, then

du  Ju
oty o et it
) dx oy
) Pu v

ax- o
(C) 3311=82¢1

dvdr oy

(D) None of the above
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21. The time required for the fetching and 25. Which among the following standard
execution of one simple machine protocols is the most widely used by the
instruction is internet ?

(A) Delay time (A) HTTP
(B) CPU cycle (B) SMTP
/
(C) Real time t€) ~TCRiP
! (B} - FIP
(D) Seek time
26. WLL stands for
22. Computer word size is a multiple of ¥
(A) Wireless Local Loop
A) 16 bit
(A) e (B) Walking Loop Line
i (C) Walking Land Line
ISR (D) Wireless Land Line
(D) 10 bits
27. Which one of the following is an

23. A nibble is C()n'lposed of MS-DOS external command ?
(A) 8 bits (A) PROMPT
(B) 4 bits (B) FORMAT
(C) 2 bits (€) DIR
(D) 6 bits (D) COPY

24. An attribute that uniquely identifies the = l: Cklia;guage, L;h(: ttortl;latt‘mgbcl:alracter
rows of a table is known as the key. s L o e asatatin o

S (A) +
(A) foreign
(B) composite 8y
(C) candidate (€) %
* (D) primary (D) =
Space For Rough Work
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29. How are java web applications 32. What type of protocol is HTTP ?
packaged ? (A) stateless
(A) jar (B) stateful
(B) war. (C) transfer protocol
©) p (D) information protocol
(D) Both jar and war :
33. What does MIME stand for ?
(A) Multipurpose Internet Messaging
30. How can we connect to database in a Extension
web application ? (B) Multipurpose ~ Internet Mail
(A) Oracle SQL developer Exisumon
(C) Multipurpose  Internet  Media
. (B) Toad ' ;
Extension
(C) JDBC template (D) Multipurpose  Internet ~ Mass
(D) MySQL Extension :
; ! 34. Which of the following registers is
31. How can we take input text from user in :
A < loaded with the contents of the memory
i location pointed by the PC ?
SeAl ol (A) Memory address register
(B) inoutBufferedReader tag (B) Memory. data register
(C) metatag (C) Instruction registers
(D) scanner tag (D) Program counter
Space For Rough Work
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35. Thrashing 38. Study the set of numbers given beiow
() ed b cenasiipioe 56 vickal and answer the question which follow :
memory systems. 427 581 839 275 589
(B) can always be avoided by If two is subtracted from the first digit of
swapping. cach of the numbers and then the first
(C) always oceurs on large computers. and the third digits are interchanges.
() cari b Ganser By B pobiia which of the following will be the
€3
algorithms. lowest ?
(A) 427
36. Which of the following options will (B) 581
complete the given series ?
1,6,15.(_2 ). 45, 66,91 (C) 5
(A) 25 (D) 275
(B) 26
(©) 27 39.  Which would be the proper order of the
D) 28 following (in ascending order) ?
(D) g
I.  Trillion
37. Harsh starts walking straight facing 2. Thousand
south. After 15 metres he turned to his 3. “Biltion
_right, walked 10 metres and turned to his :
left. Again after walking a distance of 5 % Hundre.d
metres, he turned to his left. Which 5.  Million
direction is he facing now ?
CAY 12:4,3,5
(A) West
(B) 1,3.3.2,4
(B) East
4,2,3,5,
(C) North-East © S |
(D) South-West (B H58:5, 3,1
Space For Rough Work
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40.

41.

Two cyclist start biking from a trail start
3 hours apart. The second cyclist travels
10 miles per hour and starts 3 hours after
the first who is travelling 6 mileé per
hour. How much time will pass before
the second cyclist catches up with the
first from the time the second cyclist

started biking ?

(A) 2hrs
(B) 4% hrs
(C) 53%hrs

(D) 6 hrs

What interest rate Susan need to secure
to make T 2.500 in interest on ¥ 10,000

principal over 5 years ?

(A) 4%
(B) 5%
(C) 6%
(D) 7%

42.

43.

Six pipes are fitted to a water tank.
Some of these pipes are used for filling
while others for emptying. Each filling
pipe can fill the tank in 18 hours and
each emptying pipe can empty the tank
in 12 hours. On opening all the pipes,
an empty tank can be filled in 18 hours.
The numbers of emptying pipes are

(A) 5

(B) 4
(C) 2
(D) 3

Two litres of a mixture of alcohol and
This is added
to 4 litres of another mixture containing

water contain 10% water.

8% water and half a litre of water is then
added to the whole, then the percentage
of water in the resulting mixture is

(A) 173%
11
(B) wfmu
13
12
) bl 4
( "’413
(D)l&g%
13
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44. 5 mangoes and 4 oranges cost as much 46. United Nations Headquarters is situated
as 3 mangoes and 7 oranges. What is at
the ratio of the cost of | mango to that oAy Qe
of | orange ?
(A) 43 (B) Washington D.C.
(C) New York
(B) 1:3
(D) Paris
(C)3:2
(D) “5:2
47. Who was the first Indian to go into
space ?
45, Which of the following Venn diagrams
. " (A) Satish Dhawan
best represents the relationship amongst
“Airplane, Pilot, Air hostess™ ? (B) Ravi Malhotra
(C) Rakesh Sharma
(A) @ O (D) None of these
(B) @ 48. Which among the following ranks in
Indian Air Force is the highest ?
(A) Flying Officer
(B) Air Commodore
(C) Wing Commander
(D)
(D) Squadron Leader
Space For Rough Work
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49. Indian Cancer Research Institute is 52. Which of the following is non-toxic ?
locat —
Pl il (A) Cadmium
(A) New Delhi
(B) Mercury -
(B) Calcutta
(C) Beryllium
(C) Mumbai
(D) Sodium
(D) Chennai
53. Which country gifted the Statue of
50. Who invented penicillin ? . 3
Liberty to the United States of America?
(A) Dresser
(A) England
(B) Louis Pasteur
; (B) Australia
(C) Edward Jenner
: (C) Italy
(D) Alexander Fleming
(D) France
51. On the surface of the moon, the :
(A Mdssahich welaht bedotie Tasser 54. Fly ash is environment pollutant
: produced by
(B) Mass remains. constant and only
welght fo lessir (A) Thermal power plant -
(C) Only mass 1s lesser. §E 1 Of gobpery
(D) Mass and weight both remain (©) Hydro-elec-tnc pases planis
unchanged. (D) Fertilizer plant
Space For Rough Work
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Pathology is

55. 58. Rearrange the sentence in the correct
(A) the science dealing with the order.
S ; ; 1.  now worships in the church
functioning ot organisms
2. my entire family
(B) the branch of medical science that 3. used to be a priest
studies diseases ‘4. where my great-grandfather
(C) the humanistic study of language EA): 2-1:43
and literature (B) 2-3-4-1
: : T (C) 2-1-3-4
(D) the study or investigation of
e (D) 2-4-1-3
ancestry and family history
59. Fill in the blank with the correct phrasal
56, - The Synonyin of “Eright” is verb from the options given. :
How can you think of acar?
(A) Calmness Ty
(A) moving in
(B) Disappoint (B) picking up
(C) Scare (C) setting off
: (D) getting on
(D) Thrill
60. Mark the sentence with the correct
57. Choose the word with the correct e : on
: (A) Who does not like hot delicious
spelling. coconut cookies ?
(A) Feathers (B) Who does not like delicious hot
coconut cookies ?
(B) Fethers : s
(C) Who does not like delicious
(C) Feathars coconut hot cookies ?
(D) Faethers (D) Who does not like coconut
delicious hot cookies ? -
Space For Rough Work
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61. .

62.

63.

(A)

PART - 11

Each question carry two mark.

IfAand B aresetsand AU B=A NnB,
then
(A)
(B)
()
(D)

A=O
B=®
A=B
None of these

How many permutations of the letters of
the word APPLE are there ?

(A) 600

(B) 120

(C) 240

(D) 60

A piece of equipment cost a- certain
factory ¥ 6,00.000. If it depreciates in
value, 15% the first year, 13.5% the next
vear, 12% the third year, and so on,
what will be its value at the end ot 10
vears, all percentages applying to the
original cost?

(A) %2,00,000

(B) ¥ 1.05.000

(C) ¥4.,05,000

(D) %6,50,000

Find the co-ordinates of the point
equidistant from the points A(l, 2),
B(3.—4) and C(5, —0).

(2,3)

{B): (~1,=2)

(€) (0,3)
(D) (1,3)

65.

66.

67.

68.

69.

(20 X 2 =40)

Complement  of  the
A’B +CD' is

(A) (A" +B)C +D)
(B) (A+B)C +D)
(C) (A"+B)(C +D)
(D) (A+B’)(C+D)

expression

The graphs of the two linear equations
ax + by = ¢ and bx — ay = ¢, where a, b
and c are all not equal to zero,

(A) are parallel

(B) intersect at one point
(C) intersect at two points
(D) perpendicular

Which of the following of a random
variable is a measure of spread ?

(A) Variance

(B) Standard deviation

(C) Empirical mean

(D) All of the mentioned

Optic fibers are used in place of wire
cables because

(A) they are more economical.

(B) they generate strong magnetic
fields.

(C) Walking Land Line.

(D) they do not require boosting.

What is the storage capacity of single
cookie ?

(A) 2048 MB
(B) 2048 bytes
(C) 4095 bytes
(D) 4095 MB

Space For Rough Work
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70. The basic Web Services platform is 74. If “+’iscalled */°, /" is called *-°, = " is
combination of and called *** and **" is called *+’, then what
(A) CSS+HTTP isthevalueof 6 *3/2-2+57
(B) XML +HTML A) st
; 5
(C) XML +HTTP
3
(D) CSS+JAVA (B) 2-5-
2
71. If a typical PC uses a 20-bit address (©) 47
code, how much memory can the CPU ,
address ? (D) 5
(A) 20MB
(B) 10 MB 75. If in a certain language ‘WEAK’ is
: coded as ‘9%2$’ and ‘SKIT" is coded as
(€) 1MB ‘#$7@’ then how will *“WAIT’ be coded
(D) 580 MB in the same language ?
(A) 9267
72. Convert binary 111111110010 to (B) 927@
hexadecimal. (©) 92@6
(A) EE2s D) 9@o67
(B) FF2i6 :
(C) 2FEis 76. Find the missing number, if a certain
(D) FD2 rule is followed in all the three figures.
-FD26
9 8 7
73. Which of the following will come in
place of (?) in the given series ? 48 38 : o
GHA, KLE, OPI, ..7.., WXQ 8 7 6 5 6 i
(A)" SFQ (A) 48
(B) STQ (B) 34
(C) STP (C) 38
(D) STM (D) 40
Space For Rough Work
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78.

Group the given figures into three
classes using each figure only once.

lQ 2.6 3&
T b
TD 8ﬁ QA

(A) 1,4,7:2,5.8;3.6,9
B) K& H2%5:93.6,8
)k X A28 8065719
D) 1,2,3:4,5.6:7,8,9

A principal is about to take over the
leadership of a low-performing school.
One of the principal’s first goals will be
1o evaluate teacher quality in the school.
The principal can best begin this process

by

(A) arranging to observe instruction in

each classroom.

(B) interviewing each teacher about

his or her teaching practices.

comparing student grades in each
subject area across classrooms.

(€)

(D) having each teacher complete a

teaching self-evaluation.

79.

80.

How are Earnings per Share calculated?
(A) Use the income statement to
determine earnings after taxes
(net income) and divide by the
previous period’s earnings after
taxes. then subtract 1 from the
previously calculated value.

Use the income statement to
determine earnings after taxes
(net income) and divide by the
number of common  shares
outstanding.

Use the income statement to
determine earnings after taxes
(net income) and divide by the
number of common and preferred
shares outstanding.

Use the income statement to
determine earnings after taxes
(net income) and divide by the
forecasted period’s earnings after
taxes, then subtract 1 from the
previously calculated value.

(B)

(©)

(D)

Most Europeans live in small villages.
They grow their own food and barter
with others. As well as keeping animals,
they grow small crops of wheat, rye and
vegetables. Milk, from dairy cows, is a
vital part of the diet. This milk is also
used to make butter and cheese.

Which of the following words can
replace the word ‘barter’ used above,
without changing the meaning of the
text?

(A) Traverse
(B) Keep

(C) Persuade
(D) Exchange

Space For Rough Work
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